NEW WY/ Y7

air

bearings

AIR BUSHINGS

20200513-REV.0

BEANRY Y
BASS7I SSPLEE BAE—ADE EVFE-ATb
7Y
. . fE T = fiE
J\—YNo. HALX == <
(@0.41MPa) (@0.41MPa) (@0.41MPa) (@0.41MPa)
(N) (N/pm) (N-m) (N-m/mil rad) (9)
S300601 ®1/4inch 12 2 0.013 0.022 11
$301301 ®13mm 44 11 0.8 2.1 33
$302001 ®20mm 133 23 1.1 2.8 54
$302502 ®25mm 187 34 1.9 5.3 83
$304002 ®40mm 645 72 3.1 11 223
$305002 ®50mm 934 110 5.2 23 480
$307502 ®75mm 1245 159 7.1 31 623
ik
JvS 1% . . NOSDIRTE HEaRE WESYJ MR
. Ty a15%F JyvsaikR .
J\—YNo. (+0.005/-0) (+0.127/-0) N\DSYIR (+0/-0.007)
(mm) (mm) (mm) (mm) (mm) (mm)
s300601 $0-2502inch 44 6o3inch  1.250inch  $0-635inch 0.812inch  $0-2495inch
(+0.0002/-0) (+0.005/-0) (+0/-0.0003)
S$301301 ®13.020 ®23.67 50.8 ®24.18 31.75 ®13
$302001 ®20.020 ®31.75 50.8 ®32.26 31.75 ®20
$302502 ®25.020 ®38.92 57.15 ®39.50 34.93 ®25
$304002 ®40.020 ®59.59 76.2 ®60.33 47.60 ®40
$305002 ®50.020 ®74.12 88.9 ®74.80 70.61 ®50
$307502 ®75.020 ®99.50 88.9 ®100.00 70.61 ®75
ACCESSORIES
II>F4>070OvI(BlIsED)
FUKUDA

TEERBHRRNEIR




AIR BUSHINGS

Part No. S300601

0y 48
M3X0.5-6H T .24
PRESSURE PORT

@ 05 THRU
|I—I_| @ 25T 02

+.000
010

12507

R

93

4X @ 53 2X @ 56
O-RING - GLUE  7X @ 6234005
GROOVE GROOVE

250270002 | | =
2% 2
] 2x 06 —d k—ax.10
Max Load M 0.41MPa M 0.55MPa
I7FvvT (um)
2.5 3.8 5.1 6.4 76 8.9 10.2
4 : - 17.8
3.5 + 15.6
3 - | 133
z
25 1.1 g
@ HEY
£ 4 8.9 e
g " 8
= M
1.5 BT N
)
’ _ 0.55MPa -
0.41MPa LOAD
0_5 | ! 1 . E 2.2 '

100 150 200 250 300 350 400
Air Gap (Microinches)

R
FAKITE 0.41MPa A X @0.6inchxL1.25inch
RASTT ) EakEE 12N RETAX ¢0.25inch
ST7)LEIME 2N/um 5= 11g
RBRAEYFE—-A> L [0.013N-m T7#ta0 M3x0.5
Ew FEE 0.022N - m/mil rad ERITE 0.41~0.55MPa
T HES x1 1.1~1.6NL/min FERALE 0.68MPa
I7+vvr %1 3.8um BXIRE x2 50m/sec

RS DI MR ¢0.2495 +0.0000/-0.0003 inch

RS v T MEEE 1.6SEAF

%2 TPITUT—23a>&KHEICLD



AIR BUSHINGS

Part No. S301301

= 4328 -
31.85
2540

L1 #6835
- /" M3 X056H
PRESSURE PORT

[+ 16.51 —=

5.08 - - — ’——4)( 244
Y b = %

2

4x ©21.23
O-RING GROOVE

©le 051]A

2X B22.15
GLUE GROOVE

TXH23.67+.127

+005

®13.020" g0
A 2X 5.94
35.81
- 50.80 25 —=
Max Load Wo.4iMpa [l 0.55MPa
I7FvvT  (um)
25 38 5.1 6.4 76 8.9 10.2
20 : 89.0
18 | 80.1
16 | 71.2
14 | - - ! | - 623 o
— 12 ] 53.4
4 \\ &
5 10 445 ﬁ
@
o =y
g ' \ \O.SSMVPa . ‘ w6
6 \\\\\_ \\\‘& 267 I
~ 70
4 Q41Mpa~\“~;:\\\‘\‘, 17.8
-\ \ K
2 “\5‘\5::::==='&9
0 - 0.0
100 150 200 250 300 350 400

Air Gap (Microinches)

FAKITE 0.41MPa H4a4X @e24mmxL50mm

BRASZT) EfEEE 44N AEH X ®13mm

SS7)LEIE 11N/um 58 33g

BAEYFE—A> b 0.8N-m TR0 M3x0.5

Ew FElE 2.1N - m/mil rad ERAI7E 0.41~0.55MPa

TI7HES x1 2.2~3.1NL/min FEmATIYE 0.68MPa

I7FvwvT %1 4um BRRE X 50m/sec
R v I MR ¢13.000 +0.000/-0.007 mm
#EZS v T NEEE 1.6SF

X2 FIUT—I 3 MHICLD



AIR BUSHINGS

Part No. S302001

_ @ 1.27TTHRU
TL1@8357 .38

1651 _—

T =] I'I.:'. i ‘
ol @ gl O
GROOVE GROOVE
LU |
o —ax 244
_,20020"383 3 2X 9.04 l—2x 5.94
M| os0
Max Load B 0.41MPa [l 0.55MPa
IF7FvvT  (um)
25 338 5.1 6.4 76 8.9 10.2 114
55 2447
50 222 4
45 AN 200.2
40 \‘a\\ 177.9
35 [ N 1557 £
3 30 - 1334 {E
; \\ tE
g 25 ~ 112 @
-
20 ~~. ~ go0 K
\\ =/ 0.55MPa : )
N
15 ~ ~ 66.7
0 0.41MPa \b‘,\ 445
5 h“zﬁﬁ 222
0 L 0.0
100 150 200 250 300 350 400 450

Air Gap (Microinches)

TANIVE 0.41MPa
RARSTV)LEfEEE 133N
SS7)LBIE 23N/pm
BAEYFE—A> b 1.IN-m

Ew FaltE 2.8N - m/mil rad
I7HEE x1 3.5~4.8NL/min
I7FvwvT %1 4um

X1 ZEME (Sv T MEAE)

WA X ®32mmxL50mm
AETAX ®20mm

= 544
Tr7#ka0 M3x0.5
ERAIVE 0.41~0.55MPa
FERATYE 0.68MPa
BARE x2 50m/sec

a3 J M

DSFAN - FILZZOA-ESZVD -
HSR + AT LR - Ay HUEER - 2D

RS v MR

¢20.000 +0.000/-0.007 mm

RS v DT MEAE

1.6SUF

X2 FIUT—I 3 MHICLD




AIR BUSHINGS

Part No. S302502

@ 1.27 THRU
[ L1@6357 .38

| 0 T 34.69
1 | M3Kﬂ5 6H T 5.99

: — II"'..'. Immi I
iy & T e
GROQOVE GROOQOVE
3 —" | = L]
/ —= (=—4X 318
»25.022*382
2X 12.62 -—2X .17
Max Load B o0.41mpa | 0.55MPa
I7FvvT  (pm)
25 38 5.1 6.4 76 8.9 102
80 355.9
70 L 311.4
60 f— 2669
2
50 | S 2224
. =~<;5\55~‘ ‘\\\\\‘ @
T 40 \ \ 177.9 ﬁ
o
. ~ \0.55MPa 1334 I_\A\
7
20 \\\ 89.0 in
0.41MP
10 ° T~ T~ 445
\ \ .
. | \ o0
100 150 200 250 300 350 400
Air Gap (Microinches)
OO [T
FRARITE 0.41MPa A X @e39mmxL57mm
BRASZT) EfEEE 187N AEH X @®25mm
S=77)LEE 34N/um Bs 83¢g
BAEYVFE-—A> 19N -m To7Ha0 M3x%0.5
Ew FRlE 5.3N - m/mil rad EHEIVE 0.41~0.55MPa
T HES x1 4,5~5.9NL/min HERKRIVE 0.68MPa
I7Fvwvd %1 4um BRARE %2 50m/sec
%1 ZBEME (v I MNEAE) P DS b FILZZOL - €SIV - B
a>vJ b 2 AFULR - Sy FREIE - T
RS v T MR @25.000 +0.000/-0.007 mm
B> v J MEMAE 1.6SUF

X2 FIUT—I 3> MHICLD



AIR BUSHINGS

Part No. S304002

@127 THRU
L9657 .38
|
\

V' @420% 1240
| | M3X0.8-6H T 10.01
i f—] I':,'I T
4% 5563 @ 2% 05781
Q-RING f GLUE TX ©59.58£.127
GROIOVE GROQVE
1 L L !
—= —4X 3.18
2X 13.84 2X 8.40
Max Load B 0.41MPa [ 0.55MPa
I7FvvT  (pm)
25 5.1 7.6 10.2 12.7 15.2
250 1,112.1
200 - 889.6
Z
_ 150 - S 6672
2 N e
'E \ g
Y
~ 100 \\ 4448 R
i
\ In
\\ 0.55MPa
50 '*-—\ 2224
0.41MPa \\
0 . \"5-— 0.0
100 150 200 250 300 350 400 450 500 550 600

Air Gap (Microinches)

TANIVE 0.41MPa
BASTVILEREFEE 645N

S277) LRl 72N/um
BAEYFE—A> b 3.1N-m

Ew FaltE 11N - m/mil rad
I7HES x1 7.1~9.3NL/min
I7FvwvT %1 4um

X1 ZEME (Sv 7T MEAE)

WA X @60mmMxL76mm
AETAX @40mm
o 223g
Tr7#ka0 M5x0.8
ERAIVE 0.41~0.55MPa
HFBERALIE 0.68MPa
BARE x2 50m/sec
mesvory A
R v I MR @®40.000 +0.000/-0.007 mm
RS v U NEAEE 1.6SUF

X2 FIUT—I 3 MHICLD



AIR BUSHINGS

Part No. S305002
@ 1.27 THRU
T ¢ 9657 38
@ 420 T 1240
[T M5X0.8-6H ¥ 10.01
g% %%%% P
s ul Illl l
4% 76993 2X ©72.34
O-RING GLUE TX @T74.00£.127
GROOVE GROOVE
—| 1
— —4X 3.56
®50.020% Egg—f .
El 2X 14.2 2X 16.00
Max Load B o.41mMPa [ 0.55MPa
I7FvvT  (um)
25 5.1 7.6 10.2 12.7 15.2
250 1,121
200 - 889.6
. il
150 - 667.2 i
3 N &
T \ € 2
(o] = -~
~ 100 \‘\i\ PPN
\\ 0.55MPa In
50 0.41MPa \\"-—\ 2224 TR
0 . \““h— 0.0
100 150 200 250 300 350 400 450 500 550 600
Air Gap (Microinches)
CI [T
FRARITE 0.41MPa P X @e74mmxL89mm
BATSZT) EffaE 934N REHX ¢50mm
SS7)LEIE 110N/pm -1} 480g
BAEYVFE-—A> K~ 52N -+'m T o7 Ha0 M5x0.8
Ew FEltE 23N - m/mil rad EHEIVE 0.41~0.55MPa
T 7 HES %1 9.0~11.9NL/min HEmRATE 0.68MPa
I7FvvT %1 4um BRARE x2 50m/sec
X1 BEE (S v NEAE) e D59+ N)\— Ra= hPILE=0L/E5Sy
RN DIHSRIAF UL R A FIIBEE/ T DA
RS v MR ¢50.000 +0.000/-0.007 mm
HEES v D NEEE 1.6SLUF

X2 FIUT—I 3> MHICLD



AIR BUSHINGS

Part No. S307502

_ ®127THRU

T L@ 9.657 .38
| @420 1240
| [ Msx0.8-8H ¥ 1001

« ©2lless 8 8
on ®|I¥E8 e 8
RIRY
] I|i:
1)
||II
4X £95.33 4% 2% @977
O-RING GLUE TX 99,49 127
GROOVE GROOVE
il o |ax 356
o75.021* 908~/ 2X 14.22 X 16.00
[T050
Max Load I 0.41mMPa | 0.55MPa
I7FvvT  (um)
25 3.8 5.1 6.4 7.6 8.9 10.2 11.4 12.7
450 : 2,001.7
400 | 1,779.3
350 \ 1,556.9
300 = \ 13345 Z
e
250 11121 7
\\ \ tE
g
_ 20 ~ ~ ssos 0
2 \ \ A
= 0.55MPa !
< 150 ~ 6672 i\
3 \\ N
100 444.8
0.41MPa \\
\_
50 Q\ 2224
0 : S 0.0
100 150 200 250 300 350 400 450 500

Air Gap (Microinches)

TANI7HE 0.41MPa

RAS ST )L alEEE 1245N
S77)LEIME 159N/um
BRAEYFE-—AZK  [7.AN'm

E v F it 31N - m/mil rad
TI7HES xi 13.2~17.5NL/min
I7Fvv %1 4um

X1 BEE (ST MEAE)

ST X @®100mmxL89mm
AETAX @®75mm

S8 6239

Tr7#ka0O M5x0.8

BRIVE 0.41~0.55MPa
HERAITHE 0.68MPa

BRARE x2 50m/sec

sesvorn [ e
R v I MR $75.000 +0.000/-0.007 mm
#e2S v D NEEE 1.6SUF

X2 FIUT— 3> FMHICLD





